
Spiel 1 Spiel 2 Gesamt

17:11 B 07 Schaurhofer Johann 53 + 45 = 98

B 12 Temper Josef 47 + 51 = 98

17:18 B 08 Leutgeweger Rudolf 48 + 53 = 101

B 11 Puchberger Franz 44 + 44 = 88

17:25 B 09 Enengl Andreas 52 + 49 = 101

B 10 Hintersteiner Hubert 43 + 55 = 98

17:32 B 12 Temper Josef 56 + 36 = 92

B 10 Hintersteiner Hubert 54 + 59 = 113

17:38 B 11 Puchberger Franz 60 + 51 = 111

B 09 Enengl Andreas 41 + 43 = 84

17:44 B 07 Schaurhofer Johann 51 + 59 = 110

B 08 Leutgeweger Rudolf 42 + 53 = 95

17:50 B 08 Leutgeweger Rudolf 46 + 39 = 85

B 12 Temper Josef 45 + 46 = 91

17:57 B 09 Enengl Andreas 59 + 54 = 113

B 07 Schaurhofer Johann 58 + 52 = 110

18:03 B 10 Hintersteiner Hubert 60 + 53 = 113

B 11 Puchberger Franz 50 + 59 = 109

18:09 B 12 Temper Josef 55 + 41 = 96

B 11 Puchberger Franz 50 + 63 = 113

18:15 B 07 Schaurhofer Johann 47 + 55 = 102

B 10 Hintersteiner Hubert 45 + 50 = 95

18:22 B 08 Leutgeweger Rudolf 39 + 47 = 86

B 09 Enengl Andreas 46 + 42 = 88

18:29 B 09 Enengl Andreas 52 + 55 = 107

B 12 Temper Josef 59 + 47 = 106

18:36 B 10 Hintersteiner Hubert 55 + 58 = 113

B 08 Leutgeweger Rudolf 57 + 55 = 112

18:43 B 11 Puchberger Franz 51 + 50 = 101

B 07 Schaurhofer Johann 55 + 59 = 114


